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. Where

. It is really hard

. This is bad news for bees, but it's

. Bees are very

. Honey is a

. Honey can
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all the honey bees 7

them these days.

. The bees are !

* About the bee

population dies every year.

for people.

to humans.

. First, bees give us

wonderful food.

| our health and tastes

great.
almost forever.

In fact, honey from ancient Egypt *

today!

Second, bees help produce many crops
apples and strawberries.

These crops

* by

themselves.
They need the help of bees.
Bees help in the process of

bees help pollination

What is ?

It is moving from one flower to another to
make seeds.

What is ?

It is a fine yellow powder flowers.
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Why are bees ?

One of the reasons is

Global warming has brought hot and cold
weather.
Bees cannot in these conditions.
Another reason is the harmful farmers use on

crops.

These chemicals kill bad insects,

good insects, like bees.

Then what can we do our little

yellow friends?
First, we can more flowers and trees.
This will a good environment for bees to live

Also, trees help global warming.

Second, the use of harmful chemicals on crops %

These chemicals are bees and

people.
Our little friends our help.

let them down!
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